
SAP ABAP table TKZU1 {Overhead Base Cost Elements}

TKZU1

CLIENT [CLNT (3)]

KOKRS [CHAR (4)]

KAPPL [CHAR (2)]

BKOND [CHAR (4)]

KKOMP [NUMC (3)]

ABKOART [CHAR (10)]

T000

MANDT [CLNT (3)]
 TKZU1-CLIENT = T000-MANDT 0..N

1

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 TKZU1-BKOND = T685-KSCHL 
0..N

1

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 TKZU1-KOKRS = TKA01-KOKRS 

0..N

1

TKZU2

CLIENT [CLNT (3)]

KOKRS [CHAR (4)]

KAPPL [CHAR (2)]

BKOND [CHAR (4)]

KKOMP [NUMC (3)]

ABHRKFT [CHAR (4)]

 TKZU1-KKOMP = TKZU2-KKOMP 

1

1


